Secondary Math 2 HONORS Name ID: 1

Unit 6 Similarity Review Date Period

Graph the image of the figure using the transformation given.

1) dilation of 2.5 about the origi 1
) dilation o about the origin 2) dilation of 2 about the origin
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Find the scale factor from the first triangle listed to the second. Then state if it is a reduction or
an enlargement.

3) AABC ~ AAEF 4) AUVW ~ABCD
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Solve for x. The triangles in each pair are similar.
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State if the triangles in each pair are similar. If so, state how you know they are similar and
complete the similarity statement.
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Describe the following properties:

17) Reflexive 18) Substitution

Write a two-column proof to determine if the two triangles are similar.
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20) Use the two-column proof to write a paragraph proof.

Write a two-column proof to determine if the two triangles are similar.
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22) Use the two-column proof to write a paragraph proof.



State if the three numbers can be the measures of the sides of a triangle.

23) 6,7,7 24) 23,11, 12

Find the measure of the angle indicated.

25) Find mzKCD. 26) Find mzQTU.
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Each figure shows a triangle with one of its angle bisectors.
27) Find m« 1 if ms2 =4x + 6 and 28) ms2 ="Tx -4 and m£TRS = 12x.
msl =5x-2. Find m/TRS.
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Each figure shows a triangle with one or more of its medians.
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Find the missing length indicated.
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Find the missing length indicated. Leave your answer in simplest radical form.

37) 38)

A

60
/'/ =

36

39) 40)




